Exit Ticket U2 - SOH CAH TOA

Correct Answer: ABCD
Write down the value of
sin x Explanation:
10 Cm --------------------------------------------------------------------------
A 0.6 6 cmy
B or
S| s
C [ R 2
D 2

Diagnostic Questions COI’I’eCt AnSWer: A B C D

Which is the correct hypotenuse is Explanation:
statement? 9cm, b is opposite
opposite is b,
adjacent i 9cm 0 e
adcentishem, [|  Cmmmssssssssssi
oppositeis Scm. W
hvpotel'll.lse is b cm’ llllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllllll
opposite is Scm
Diagnostic Questions Correct Answer: ABCD
Which is a correct line of = sin(35) EXpIanation:
working to calculate k? - 8
e
k=—0—
Sln(35) --------------------------------------------------------------------------
k =sin(35) x 8
8 i s
sin(35) = -
a
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